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10.

11.

12.

13.

14.
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16.

17.

18.

19.

20.

In rare cases fertility drugs may cause ovarian hyperstimulation syndrome (OHSS).

This builds up fluid in: ]
a. Abdomen and chest b. K.ldne_v
c. Heart d. Liver

Fertilizin is a chemical substance produced from:
a. Mature eggs b. Acrosome
¢. Polar bodies d. Middle piece of sperm

For GIFT to be suitable woman must have:
a. At least one normal fallopian tube

c. Epididymis
In vitro fertilization differs from natural fertilization in a way that:

b. A Uterus and three fallopian tube
d. All of the above

a. In IVF sperm and egg unite outside b. In IVF the egg is already fertile
the body

c. InIVF a single sperm fertilizes d. Itis similar to cloning
multiple eggs

Thyroid cells are derived from embryonic............

a. Ectoderm b. Mesoderm

¢. Endoderm d. Archenteron

Which one of the following is not a morphogen?

a. Calmodulin b. Wnt

c. Retinoic acid d. Sonic hedgehog

The protein which is displaced by the signaling effect of Wnt to express Wnt
responsive gene in DNA is.................

a. Dishevelled protein b. GROCHO

c. GSK-3 d. Axin

Number of small units in Extracellular domain of a cadherin molecule is:
2..3 b. 4

(I d. 6

Which ions are essential for binding of EC-domains of two cadherin molecule?
a. Na* b. K"

Mgt i Gt

Select the protein which is not related to axes formation in drosophila.

a. Dorsal b. Pipe

c. Cactus d. Frizzled

Select the energy source for nuclear import process.
a. ATP b. GTP
SR GTP d. TIP
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